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Тема: Сила Ампера. 

№ 1 

Магнитная 

индукция 

Сила тока Длина 

проводника 

Угол между В 

и 𝓘 

Сила Ампера, Н 

4мТл 0,1А 12 см 300 ? 

Дано:                          

В = 4мТл 

ℐ = 0,1А  
∆𝑙 = 12см  
𝛼 = 300 

Найти: 

𝐹𝐴−? 

СИ 

4 ∙ 10−3Тл 
 

12 ∙ 10−2м 

Решение: 

𝐹𝐴 = 𝐵ℐ∆𝑙𝑠𝑖𝑛𝛼 

[𝐹𝐴] = Тл ∙ А ∙ м =
Н ∙ А ∙ м

А ∙ м
= Н 

𝐹𝐴 = 4 ∙ 10−3 ∙ 0,1 ∙ 12 ∙ 10−2𝑠𝑖𝑛300 = 2,4 ∙ 10−5(𝐻) 

Ответ: 𝐹𝐴 = 2,4 ∙ 10−5(𝐻) 

№2 

Магнитная 

индукция 

Сила тока Длина 

проводника 

Угол между В 

и 𝓘 

Сила Ампера 

? 0,6 А 15 см 600 13 мкН 

Дано:                          

𝐹𝐴 = 13 мкН   
ℐ = 0,6А  
∆𝑙 = 15см  
𝛼 = 600 

Найти: 

В−? 
 

СИ 

13 ∙ 10−6Н 
 

15 ∙ 10−2м 

Решение: 

𝐹𝐴 = 𝐵ℐ∆𝑙𝑠𝑖𝑛𝛼 

𝐵 =
𝐹𝐴

ℐ∆𝑙𝑠𝑖𝑛𝛼
 

[𝐵] =
Н

𝐴 ∙ м
= Тл   

𝐵 =
13 ∙ 10−6

0,6 ∙ 15 ∙ 10−2 ∙ 𝑠𝑖𝑛600
= 1,68 ∙ 10−4(Тл) 

Ответ: 𝐵 = 1,68 ∙ 10−4(Тл) 

№ 3 

Магнитная 

индукция 

Сила тока Длина 

проводника 

Угол между В 

и 𝓘 

Сила Ампера 

6мТл ? 18 см 450 2,5мН 

Дано:                          

𝐹𝐴 = 2,5 мН 

В = 6мТл   
∆𝑙 = 18см  
𝛼 = 450 

Найти: 

ℐ−? 
 

СИ 

2,5 ∙ 10−3Н 

6 ∙ 10−3Тл   
18 ∙ 10−2м 

Решение: 

𝐹𝐴 = 𝐵ℐ∆𝑙𝑠𝑖𝑛𝛼 

ℐ =
𝐹𝐴

𝐵∆𝑙𝑠𝑖𝑛𝛼
 

[ℐ] =
Н

Тл ∙ м
=

Н ∙ А ∙ м

Н ∙ м
= А 

  ℐ =
2,5 ∙ 10−3

6 ∙ 10−318 ∙ 10−2𝑠𝑖𝑛450
= 0,032 ∙ 102 = 3,26(А) 

Ответ: ℐ = 3,26(А) 

№ 4 

Магнитная 

индукция 

Сила тока Длина 

проводника 

Угол между В 

и 𝓘 

Сила Ампера 

6мТл 0,7 А ? 300 4,4 мН 

Дано:                          

𝐹𝐴 = 4,4 мН  
В = 6мТл    
ℐ = 0,7А 

𝛼 = 300 

Найти: 

∆𝑙−? 
 

СИ 

4,4 ∙ 10−3Н 

6 ∙ 10−3Тл 

Решение: 

𝐹𝐴 = 𝐵ℐ∆𝑙𝑠𝑖𝑛𝛼 

∆𝑙 =
𝐹𝐴

𝐵ℐ𝑠𝑖𝑛𝛼
 

[∆𝑙] =
Н

Тл ∙ А
=

Н ∙ А ∙ м

Н ∙ А
= м 

∆𝑙 =
4,4 ∙ 10−3

6 ∙ 10−3 ∙ 0,7 ∙ 𝑠𝑖𝑛300
= 2,1(м) 

Ответ:   ∆𝑙 = 2,1(м) 
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№ 5 

Магнитная 

индукция 

Сила тока Длина 

проводника 

Угол между В 

и 𝓘 

Сила Ампера 

6мТл 0,4 А 15 см ? 235мкН 

Дано:                          

𝐹𝐴 = 235 мкН 

В = 6мТл   
ℐ = 0,4А 

∆𝑙 = 15 см   
Найти: 

𝛼−? 
 

СИ 

235 ∙ 10−6Н 

6 ∙ 10−3Тл   
 

15 ∙ 10−2м  

Решение: 

𝐹𝐴 = 𝐵ℐ∆𝑙𝑠𝑖𝑛𝛼 

𝑠𝑖𝑛𝛼 =
𝐹𝐴

𝐵ℐ∆𝑙
 

[𝑠𝑖𝑛𝛼] =
Н

Тл ∙ А ∙ м
=

Н ∙ А ∙ м

Н ∙ А ∙ м
= 1   

𝑠𝑖𝑛𝛼 =
235 ∙ 10−6

6 ∙ 10−3 ∙ 0,4 ∙ 15 ∙ 10−2
= 6,52 ∙ 10−1 = 0,65  

𝛼 = 410 

Ответ: 𝛼 = 410 

 

𝜶 𝒔𝒊𝒏𝜶 
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